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float GetDistance
{

(void)

static unsigned long start time =0, time
float distance = 0.0;

IotGpioValue value = IOT GPIO VALUEOQ;
unsigned int flag = 0;

/ /MBI AL & ES Trig i GPIO11,Echo i GPIO12

0;

IoTGpioSetDir (HI IO NAME GPIO 12, IOT GPIO DIR IN);
IoTGpioSetDir (HI IO NAME GPIO 11, IOT GPIO DIR OUT);

//f R Trig
IoTGpioSetOutputVal (HI IO NAME GPIO 11,
hi udelay(20);
IoTGpioSetOutputVal (HI IO NAME GPIO 11,
/ /R Echo fri M T B[]
while (1) {
IoTGpioGetInputVal (HI IO NAME GPIO 1
if (value

start _time = hi get us();

flag=1;
}
if (value == IOT GPIO VALUEO && flag
time = hi get us() -start time;
start_time = 0;
break;
}
}
/R

distance = time *0.034 / 2;
printf("[Distance]:%f.\r\n", distance);

return distance;

5.2.2 Sk#usm

i 1o ' A BRI R SO L 25 4 B SRR T A
e PP MR AR T MR g P AW AR R LED 527K,
#define LED TEST GPIO 9

void GetLight
{

(void)

IotGpioValue value = IOT GPIO VALUEOQ;
/ /¥ 44k LED (1 GPIO
IoTGpioInit (LED TEST GPIO);
/B A /T

IOT GPIO VALUEL && flag =

IOT GPIO VALUEL);

IOT GPIO VALUEO);

2, &value);

) A

1) |

A BRI U RS 1 DO 124t —

/ /i hispark pegasus H &

IoTGpioSetDir (LED TEST GPIO, IOT GPIO DIR OUT);

/ /BB UL RS Do A

IoTGpioSetDir (HI IO NAME GPIO 10, IOT GPIO DIR IN);

if(led flag==2) {
IoTGpioSetDir(LEDiTESTiGPIO, 1),
}

else(

//LED %

IoTGpioGetInputVal (HI IO NAME GPIO 10, &value);

if ( value == IOT GPIO VALUEL ) {
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IoTGpioSetDir (LED_TEST GPIO, 1); //LED 3%
led flag =1;
printf("on\n");

}

if (value == IOT GPIO VALUEO ) {
IoTGpioSetDir (LED TEST GPIO, 0); //LED K
led flag = 0;
printf("off\n");

5.2.3  Wgng 2Rk

o TRT B A o AP P P 4 ol P

it

void BeepRing(void)

{

}

/ /WG AL GPIO

IoTGpioInit (HI IO NAME GPIO 5);

/ /R

IoTGpioSetDir (HI_IO NAME GPIO 5, IOT_GPIO DIR OUT);
//GPI0 &

hi io_set func(HI_IO NAME GPIO_5,HI IO _FUNC_GPIO_5 GPIO);
/ /% AR

IoTGpioSetOutputVal (HI IO NAME GPIO 5,0);

beep flag=0;

printf ("BeepRing\n");

void BeepStop(void)

{

//¥G A GpIO
IoTGpioInit (HI IO NAME GPIO 5);

/ /BB

IoTGpioSetDir (HI IO NAME GPIO 5, IOT GPIO DIR OUT);
//GPIO &

hi io set func(HI_IO NAME GPIO 5,HI IO FUNC_GPIO 5 GPIO);
/ /% 5 L

IoTGpioSetOutputVal (HI IO NAME GPIO 5,1);

beep flag=l;

printf ("BeepStop\n") ;

5.2.4 OLED {5

SSD1306 #Z I RERAG T .

void OLED(void)

{

IoTGpioInit (HI IO NAME GPIO 13);
IoTGpioInit (HI IO NAME GPIO 14);

hi io set func(HI IO NAME GPIO 13, HI IO FUNC GPIO 13 I2CO SDA);
hi io set func(HI IO NAME GPIO 14, HI IO FUNC GPIO 14 I2CO SCL);

IoTI2cInit (0, OLED_IZC_BAUDRATE) ;
usleep(20%1000) ;
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ss5d1306_Init();

ssd1306 Fill(Black);

ssd1306_SetCursor (0, 0);

if(distance_ flag==0) {
ssd1306 DrawString("Be Carefully!", Font 11x18, White);
ssd1306 UpdateScreen();
printf("testl");

}

else(
ssd1306 DrawString("Safe", Font 11x18, White);
ssd1306 UpdateScreen();
printf ("test2");

5.2.5 WiFi il
WiFi # AR BT .

void wifi wpa event cb(const hi wifi event *hisi event)
{
if (hisi event == NULL)
return;
switch (hisi event->event) ({
case HI WIFI EVT SCAN DONE:
printf ("WiFi: Scan results available\n");
break;
case HI WIFI EVT CONNECTED:
printf ("WiFi: Connected\n") ;
netifapi dhcp start(g lwip netif);
wifi ok flg=1;
break;
case HI WIFI EVT DISCONNECTED:
printf("WiFi: Disconnected\n") ;
netifapi dhcp stop(g lwip netif);
hi sta reset addr(g lwip netif);
break;
case HI WIFI EVT WPS_TIMEOUT:
printf("WiFi: wps is timeout\n");
break;
default:
break;
}
}
int hi wifi start connect(void)
{
int ret;
errno_t rc;
hi wifi assoc _request assoc_req = {0}
rc = memcpy_s(assoc_req.ssid, HI WIFI MAX SSID LEN + 1, "OCF24", 8);
if (rc !'= EOK) {
return -1;
}
/ /3R T X
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assoc_req.auth = HI WIFI SECURITY WPA2PSK;
/ /A EE Y
memcpy (assoc_req.key, "xxxxxxxx", 8);
ret =hi wifi sta connect(&assoc_req);
if (ret != HISI OK) {
return -1;
}
return 0;
}
int hi wifi start sta(void)
{
int ret;
char ifname[WIFI IFNAME MAX SIZE + 1] = {0};
int len = sizeof (ifname);
const unsigned char wifi vap res num = APP_INIT VAP NUM;
const unsigned char wifi user res num = APP INIT USR NUM;
unsigned int num =WIFI_SCAN AP LIMIT;
ret =hi wifi sta start(ifname, &len);
if (ret !=HISI OK) {
return -1;
}
ret =hi wifi register event callback(wifi wpa event cb);
if (ret !=HISI OK) {
printf("register wifi event callback failed\n");

g lwip netif =netifapi netif find(ifname);
if (g_lwip netif == NULL) {
printf("%$s: get netif failed\n", __ FUNCTION_ );
return -1;
}
//FF R R R B wird A
ret =hi wifi sta scan();
if (ret !=HISI OK) {
return -1;
}
sleep(5);
hi wifi ap info *pst results = malloc(sizeof (hi wifi ap_ info) *WIFI_ SCAN_ AP
LIMIT);
if (pst_results == NULL) {
return -1;
}
/ /B A RN A R AT AR
ret =hi wifi sta scan results(pst _results, &num);
if (ret !=HISI OK) {
free(pst results);
return -1;
}
/ /AT ERE R B 0 BT A #0
for (unsigned int loop = 0; (loop < num) && (loop < WIFI SCAN AP LIMIT); loop++) {
printf ("SSID: %s\n", pstiresults[loop] .ssid);
}
free(pst_results);
/TP IR HE AR
ret =hi wifi start connect();
if (ret !'=0) {
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return -1;

}

return 0;
}
void wifi sta task(void *arg)
{
arg = arg;
//EER R
hi wifi start sta();

while(wifi ok flg ==0)
{
usleep (30000) ;

}
usleep(2000000) ;

5.2.6 OneNET zFE§

AT AL AE QA MRS LB 7 RN A FAR OCARHS
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void onenet cmd rsp cb(uint8 t *recv data, size t recv_size, uint8 t **resp data,

size t *resp size)
{
printf("recv data is %.%s\n", recv_size, recv_data);
strcpy(templ, (char *) (recv data)); / /¥ 1f recv data
int messageCode = (templ[2] -'0") ;
printf("messageCode is %d\n", messageCode) ;
if (messageCode==0) {
BeepStop() ;
printf("Beep\n");
}
if (messageCode==1) {
IoTGpioSetDir (LED TEST GPIO, 1); //LED %%
led flag=2;
printf ("LED ON\n") ;
}
if (messageCode==2) {
IoTGpioSetDir (LED_TEST_GPIO, 1); //LED K
led flag =0;
printf ("LED OFF\n");
}
*resp_data = NULL;
*resp_size =0;
}
int onenet test(void)

{

device info init (ONENET INFO DEVID, ONENET INFO PROID, ONENET INFO AUTH,

ONENET_INFO_APIKEY, ONENET_MASTER_APIKEY);
onenet mgtt init();
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onenet set cmd rsp cb(onenet cmd rsp cb);
IoTWatchDogDisable() ;
while (1)
{
GetLight ()
temp = GetDistance();
OLED() ;
/ /ESEHI W, By 1k
if (temp<3) {
count++;
}
else(
count=0;
}
if (temp<3&&count>3) {
BeepRing() ; / /Y N 5 )
printf("[Beep]:%d.\r\n",beepiflag);
distance flag=0;
printf("[person]:%d.\r\n",distanceiflag);
}
else(
BeepStop () ; / /NG B AN T
printf ("[person]:%d.\r\n", distance flag);
distance flag=l;
}
// EAEE OneNET
if (onenet mqgtt upload digit("person", distance flag) < 0)
{
printf("upload has an error, stop uploading");
//break;
}
else
{
printf("buffer :{\"person\":%d}\r\n", distance flag);
}
sleep(1l);
}

return 0;

5.2.7 AinmBiH

AR A0 A% B A & 2% POST 35
1. Rmigit

<?xml version="1.0" encoding="utf-8"?>
<Directionallayout
xmlns:ohos="http://schemas.huawei.com/res/ohos"
ohos:height="match parent"
ohos:width="match parent"
ohos:alignment="horizontal center"
ohos:orientation="vertical">
<Text
ohos:id="$+id:text type get"
ohos:height="60vp"
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ohos:width="match parent"
ohos:text alignment="center"
ohos:layout alignment="horizontal center"
ohos:text="GET iFK"
ohos:text size="30vp"
/>
<Text
ohos:id="$+id:text type post"
ohos:height="60vp"
ohos:text alignment="center"
ohos:width="match parent"
ohos:background element="#ed6262"
ohos:layout alignment="horizontal center"
ohos:text="POST gk "
ohos:text size="30vp"
/>
<ScrollView
ohos:height="match parent"
ohos:width="match parent"
>
<Directionallayout
ohos:height="match parent"
ohos:width="match parent">
<Text
ohos:id="$+id:text result"
ohos:height="match parent”
ohos:multiple lines="true"
ohos:text alignment="center"
ohos:width="match parent"
ohos:layout alignment="horizontal center"
ohos:text="Il/R&5H"
ohos:text size="20vp"
/>
</DirectionalLayout>
</ScrollView>
</DirectionallLayout>

2. %1% POST 5K

package com.example.afinal.slice;

import com.example.afinal.ResourceTable;

import ohos.aafwk.ability.AbilitySlice;

import ohos.aafwk.content.Intent;

import ohos.agp.components.Component;

import ohos.agp.components.Text;

import okhttp3.*;

import java.io.IOException;

public class MainAbilitySlice extends AbilitySlice {
//private static AbilityForm textResult;
Text TextGet, TextPost, textResult;
private boolean status;
final String cloud url =

"http://api.heclouds.com/cmds?device id=962845387";
@Override
public void onStart(Intent intent) ({
super.onStart (intent);
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super.setUIContent (ResourceTable.Layout ability main);
TextGet = findComponentById(ResourceTable.Id text type get);
TextPost = findComponentById(ResourceTable.Id text type post);
textResult = findComponentById(ResourceTable.Id text result);
TextGet.setClickedListener (new Component.ClickedListener() {
@Override
public void onClick(Component component) ({
OkHttpClient client = new OkHttpClient();
Request.Builder requestBuilder = new Request.Builder();
requestBuilder. addHeader ( " api - key"," CT0J7NvniU4ES5hsdH4emD =
FzKs0=");
HttpUrl.Builder urlBuilder = HttpUrl.parse ("http://api.heclouds.
com/devices/962845387/datapoints") .newBuilder(); //todo &% 4

urlBuilder.addQueryParameter("datastream id", "temperature");
E ¥
urlBuilder.addQueryParameter ("limit", "4"); //%ﬁ%

requestBuilder.url (urlBuilder.build());
Call call =client.newCall(requestBuilder.build());
call.enqueue(new Callback() {
@Override
public void onFailure(Call call, IOException e) {
//todo KWKl iR 75 2 n] 2] 3 2 s 45
getUITaskDispatcher () .asyncDispatch(new Runnable ()

@Override
public void run() {
textResult.setText (e.getMessage());

1)
}
@Override
public void onResponse (Call call, Response response) throws
IOException {
if (response.isSuccessful()) {
String result = response.body() .string();
/ /Kb BT ) 4 ) A T £ e 4k B
getUITaskDispatcher () .asyncDispatch(new Runnable () {
@Override
public void run() {
textResult.setText (result);

b
TextPost.setClickedListener (new Component.ClickedListener () f{
@Override
public void onClick(Component component) ({
textResult.setText ("post can be pressed");
OkHttpClient client = new OkHttpClient();
FormBody body = new FormBody.Builder ()
.add ("temperature", "77") //HWS %
.build();
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Request request = new Request.Builder ()
.header ("api-key", "CT0J7NvniU4ES5hsdH4emD=FzKs0=")
.url("http://api.heclouds.com/cmds?device 1d=962845387")
.post (body)
build();
Call call =client.newCall (request);
call.enqueue (new Callback() {
@Override
public void onFailure(Call call, IOException e) {
/ /R W Tnl A 7 ] B 32 AR R 4

getUITaskDispatcher () .asyncDispatch(new Runnable (

@Override
public void run() {

textResult.setText (e.getMessage());

b
}

@Override

public void onResponse (Call call, Response response) throws
IOException {

if (response.isSuccessful()) {
String result = response.body() .string();
/ /b B 5UTH i HE ) 46 ) T 2 R Ak PR
/ /2R T T R e ] 3] 32 R R A R

getUITaskDispatcher () .asyncDispatch(new Runnable() {
@Override

public void run() {

textResult.setText (result);

5.3 F@mETR
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